Monday Fluency 15 January 18, 2021

Fluency Fifteen [wonday )

Place Value
1. What is the value of the underlined digit? 5318.6

2. Use the symbols < > or = to make this correct.

27 +9 28 +4
3. Put these numbers in ascending order:
0.6 0.3 0.1 0.9

4. What is 35 more than 1807

5. Round 3472 to the nearest ten

6. Round 8896 to the nearest hundred
7.655+10 =

8. Estimate what number the arrow is pointing to:

600 | l 700

Addition and subtraction

9. Find the difference between 5674 and 392
10. What is 3865 more than 12757

11. 5699 - 1734 =

Measurement

12. Convert 5.6 kilometres into metres
13. Convert 2895ml into litres
Fractions
14.6 + 7?7 =9
10 10 10
15. Put these fractions in descending order:
3 6 1 8
12 12 12 12
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